Puzzle 11876 - Sunday, 06 December, 2015 - Difficulty 10

18 | 22 | 20 22 1 12 |
9| 8546 7]2|1]3:
‘ffffff, ’16:1: | | ;27::':‘ ,,,,,,,,,,,, ‘ :
116|712 53498,
T R R R S
2|4]3[8|1/9]5/6|7
TR K R R R |

5|3 278|619 4|1
éb’,’:ﬁ,‘ ’2’3’,’:: é’,iiii: i T i é’,iiii: é(’)’,’:ﬁ: 3777::1
4191813 |2 |1167 5
6715|9438 2:
N N N R D N D R
35697 8|1 )2)4:
% | % i’o’:i’ ffffff,} ‘7’11111 %’3’:’ ffffff,‘ : | % |
7120911 4(5]|8 )36
éf,’fﬁ;,ﬁiiiﬁ’, ib’:’ ffffff,‘ | | éf::,ffffff,} i;":’ —
8] 1)14[6)3]2]7[5]9

Copyright (c) www.dailykillersudoku.com



